4. SINIF PROBLEM KiTAPCIGI 1

Cevap001=23568; Cevap002=1513; Cevap003=6425;
Cevap004=350; Cevap005=9651; Cevap006=9924;
Cevap007=5650; Cevap008=8712; Cevap009=46351;
Cevap010=8600; Cevap011=9186; Cevap012=5030;
Cevap013=10690; Cevap014=6187; Cevap015=34679;
Cevap016=3490; Cevap017=902315; Cevap018=1294;
Cevap019=8100; Cevap020=7351; Cevap021=387590;
Cevap022=798625; Cevap023=6908; Cevap024=2496;
Cevap025=5189; Cevap026=9949; Cevap027=84207;
Cevap028=3478; Cevap029=539621; Cevap030=78949;
Cevap031=3970; Cevap032=377028; Cevap033=8649;
Cevap034=2487; Cevap035=829704; Cevap036=409406;
Cevap037=19372; Cevap038=9226; Cevap039=169874;
Cevap040=96994; Cevap041=8514; Cevap042=7386;
Cevap043=5281; Cevap044=9500; Cevap045=71643;
Cevap046=5600; Cevap047=7700; Cevap048=9840;
Cevap049=1364; Cevap050=357298



